
This question paper consists of 6 questions and 7 printed pages.

Bg ‡ÌZ-nÃ _| 6 ‡ÌZ VWm 7 _w{–V n•> h¢ü&
Code No.

H$moS> Zß0 54 / HIS / 2

DATA EN TRY OP ER A TIONS

S>mQ>m EßQ¥>r gßMmbZ

( The ory )

( {g’mßV )

(336)

Day and Date of Ex am i na tion .......................................................................................

(narjm H$m {XZ d {XZmßH$)

Sig na ture of Invigilators 1. ............................................................................................

({ZarjH$m| Ho$ hÒVmja)
2. ............................................................................................

Gen eral In struc tions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of

questions contained in the Question Paper are the same as those printed on the top

of the first page. Also check to see that the questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number

anywhere other than the specified places will lead to disqualification of the

candidate.

4. Answers for questions, like matching, True or False, Fill in the blanks, etc., are to be 

given in the answer-book.

5. Write your Question Paper Code No. 54/HIS/2, Set u on the Answer-Book.

336/HIS/818 [ P.T.O.

Set/goQ>  u

Roll No.
AZwH´$_mßH$



gm_m›` AZwXoe Ö
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Note : All questions are compulsory and carry marks as indicated against each

question.

{ZX}e> : g^r ‡ÌZ A{Zdm`© h¢ Am°a ‡À òH$ ‡ÌZ Ho$ AßH$ gm_Zo {XE JE h¢ü&

1. Fill in the blanks of the following : ½×10=5

{ZÂZ{b{IV _| [a∫$ ÒWmZm| H$s ny{V© H$aoß Ö

(a) LCD stands for _____.

LCD H$m nyam Zm_ _____h°ü& 

(b) To select non-consecutive file or folder, press and hold down _____ key.

J°a-bJmVma µ\$mBb `m µ\$moÎS>a Ho$ M`Z hoVw _____Hw±$Or X~mE aI|ü&

(c) _____, a pointing device, is a mouse lying on its back.

_____, EH$ nm∞`ßqQ>J CnH$aU h°, Omo CÎQ>m aIo _mCg O°gm hmoVm h°ü&

(d) You can merge the data records to _____.

Amn S>oQ>m [aH$m∞S>© _____ _| _O© H$a gH$Vo h¢ü&

(e) _____ refers to the mail server.

_____ _ob gd©a H$mo XÌmm©Vm h°ü&

(f) Select _____ from the menu bar to view how the worksheet will look when

printed.

dH©$erQ> q‡Q> hmoH$a H°$gm {X>IoJm, XoIZo Ho$ {bE _oZy n≈>r go _____M`Z H$aßoü& 
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(g) The program written by the programmer in high-level language is called

_____.

‡moJ´m_a ¤mam hmB-bodob b±ΩdoO _| {bIo J`o ‡moJ´m_ H$mo _____ H$hm OmVm h°ü& 

(h) _____ is a collection of one or more web page(s).

_____ EH$ `m EH$ go A{YH$ do~ noOm| H$m EH$ gßJ´h h°ü&

(i) Under file, click _____ and select folder.

µ\$mBb Ho$ VhV, _____X~mE± Am°a µ\$moÎS>a H$m M`Z H$a|ü&

(j) The operating system in these days uses a _____.

AmOH$b Am∞nao{Q>ßJ {gÒQ>_ _____ H$m Cn`moJ H$aVm h°ü&

2. State True or False : ½×10=5

ghr `m µJbV {b{IE :

(a) ‘C’ is a procedural language. 

"C' EH$ ‡{H´$`mÀ_H$ (‡mogr¡`ab) b±ΩdoO h°ü&

(b) Web server is an electronic document that links to another place in the

same document or to an entirely different document.

do~ gd©a EH$ BboäQ¥>m∞{ZH$ XÒVmdoµO h°, Omo Cgr XÒVmdoµO _| Xygao ÒWmZ H$mo `m {~ÎHw$b AbJ XÒVmdoµO 
H$mo {bßH$ H$aVm h°ü&

(c) Control panel cannot be used to change system settings.

Hß$Q¥>mob n°Zob {gÒQ>_ goqQ>J _| ~Xbmd H$aZo Ho$ {bE BÒVo_mb Zht {H$`m Om gH$Vmü&

(d) Heading 1 is a default style.

hoqS>J 1 EH$ {S>µ\$m∞ÎQ> Ìm°br h°ü&
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(e) Pivot table allows you to perform data analysis.

Ywar Vm{bH$m AmnH$mo S>oQ>m {dÌbofU H$aZo Ho$ {bE AZw_{V XoVm h°ü&

(f) While preparing slides, use long-phrases sentences to convey your

message.

ÒbmBS> ~ZmVo h˛E AnZo gßXoe gß‡o{fV H$aZo Ho$ {bE bß~o dmä`mßÌm Ho$ dmä`m| H$m Cn`moJ H$aßoü&

(g) Computer language FORTRAN is used to solve the scientific and

mathematical problems.

d°km{ZH$ Am°a J{UVr` g_Ò`mAm| H$mo hb H$aZo Ho$ {bE H$Âfl ỳQ>a ^mfm \$moaQ¥>mZ (FOR TRAN) H$m$
‡`moJ {H$`m OmVm h°ü&

(h) Windows cannot provide help.

Win dows _XX (hoÎn) Zht H$a gH$Voü& 

(i) 192.100.8.56 is a valid IP address.

192.100.8.56 EH$ _m›` IP nVm h°ü& 

(j) PaintShop Pro is not a graphics tool.

noßQ>Ìmm∞n ‡mo EH$ J´m{\$äg CnH$aU Zht h°ü&

3. Define the following terms (any two) : 1×2=2

{ZÂZ{b{IV e„Xmoß H$mo n[a^m{fV H$a| (H$moB© Xmo) :

(a) Output device

AmCQ>nwQ> {S>dmBg

(b) Rulers

Í$bg©

(c) Auto sum

Am∞Q>mo g_
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4. Write short notes on the following : 2×5=10

{ZÂZ{b{IV na bKw ZmoQ> {bI| :

(a) Machine language

_ÌmrZ b±ΩdoO

(b) Format painter

\$m∞_}Q> n|Q>a

(c) Title slide

Q>mBQ>b ÒbmBS>

(d) Search in Windows (Steps)

gM© BZ qdS>mog (ÒQ>oflg)

(e) HTML

EM0 Q>r0 E_0 Eb0

5. Differentiate between the following : 2×5=10

{ZÂZ{b{IV Ho$ ~rM AßVa {bI| :

(a) FTP and TCP/TP

E\$0 Q>r0 nr0 Am°a Q>r0 gr0 nr0/ Q>r0 nr0

(b) Stock chart and XY (Scatter) chart

ÒQ>m∞H$ MmQ>© Am°a XY(ÒH°$Q>a) MmQ>©

(c) Title Case and Toggle Case

Q>mBQ>b Ho$g Am°a> Q>m∞Jb Ho$g

(d) Print and Print Preview

{‡ßQ> Am°a> q‡Q> ‡rÏ ỳ

(e) System Software and Application Software

{gÒQ>_ gm∞‚Q>do`a Am°a> A{flbHo$ÌmZ gm∞‚Q>do`a
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6. Answer the following :

{ZÂZ{b{IV Ho$ CŒma X|:

(a) Mrs. Komal is working in an organization as Executive and she has

created one MS-Word document. Now, she is unable to perform the

following task, help her to do so, by writing the steps : 2×2=4

lr_Vr H$mo_b H$m`©H$mar Ho$ Í$n _| EH$ gßJR>Z _| H$m_ H$a ahr h° Am°a dh EH$ MS-dS>© XÒVmdoµO
~ZmVr h°ü& A~ dh {ZÂZ H$m`© H$aZo _| Ag_W© h°, Cgo H$X_ {bIH$a Eogm H$aZo {bE _XX H$aoß Ö

(i) Insert bullets and numbers

BZgQ>© ~wboQ≤>g Eo›S> Zß~g©

(ii) Page size and orientation

noO gmBµO Eo›S> Amo[a`|Q>oÌmZ

(b) Based on the following data, find the values of the expressions : 1×4=4

{ZÂZ{b{IV Am±H$ãS>m| Ho$ AmYma na Ï ß̀OH$m| Ho$ _mZ kmV H$a| Ö

20 15 8 9

35 2 15 24

23 15 38 2

3 7 8 20

(i) =(D1*2/D3) – A4

(ii) =B2* (C2/3 – A4)

(iii) =SUM (A1:D1)/4

(iv) =MAX(A1:D4)*MIN(A1:D4)

H H H
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